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4 Find the missing shape in the pattera,
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16, Write the number 15 in words.
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21, Complere the number sentence.
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30.  Write an addition sentence with thege numbers and signg.
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47 Study the pictures.
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Section D {8 quesiiens x 3 marks each)
Read the stery sums carefully, Complete tho n Ll‘ﬂ*n‘r’ sentences and

Till in the answeprs i ibe final statements .

37, The children hove 6 tav cars. Their sunt gives them 3 more,
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How many ey wans do they have altegether?
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40. Tim has 12 marbleg, Joe has < swarbles ros

Peter has O marbles fewer Than Tim,
a)  How many marbles does Joe have?
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41, Bill bought 13 Kites. He bought & kites fewer than Joe,

many kites did Joe buy?

Joe boaghi




V

Now
oV
f’\\

n *
. L. .

7 Kl _ v X
= e -
« I [ U }

R = {L]
LA
o 4 i o
& ! o2 i
-~ i £ P N

. { oy s

kY bod <2 Rl

L2 =) -

o i e e iamm £

— k]

_..M K. _ H 3

s = | x

4 N \ m i

) ) i A ¥
Lot ; v
...... - i~ _ 1
4 9 0

Pl

NV:. N im 1A
— R Ess PaN
Hu Vﬂ ./
! L o I
oy TN mt A £ \!\
a8 T 2 ! | o i
1 ) -t ) J Ll L1
5 7 F N ! : s ¥
N o | | 4
(9 AN ha i H
5 & L S o ¥
[ e d £
,,,,,,,,,,,, ; Ae — s *
R T z
1 _, 7 o2 [ " b
| o Y S £
) 1 | O N Mn o e e
R 4 EEY) MM
C e i

e

>

Setter L Wee

42
3

h !




ANGLC CHINESE SCHOOL (PRIMARY)
MID YRAR EXEAMINATION 2004
PRIMARY 1 MaTHEMATICS

1) @ 27y &
2) 3 2&) draw 2 move triangles
3) & 299 7
a) 30) 6+ 3 =9
5) 2 31y 12 2
6) 3 32Y SN
7Y 2 - .
e 33) a) 6
8) 1 1 \.
ryoard
ay 3
2 3 c) Sth
10) 2 e
) 34) &) I
- 1
1LY 4 P -
e -
A i~
12) 3 B T
13) 2
by 7
14) 3 \
25) aY LYol o) 2
15) 1
36) ay fork -) 3 oY L4
16) f1frezn
37 6 4+ 3 = 0O
17) @ 3
@
18) 19 - 16
38) 20 — 6 = 14
16Y 19
14
20) 17 i5 & 3 3
39Y L3 o~ w o= 1l
21) 13
22) 57 \
40Y aYy 12 b= 15 L
A
D1l — 2 =3 2
a0 n N By H — . —~t X
23) 7 Q) ) W O o
S o s 2 N T . s _ o« A
o4 10 2 = o D
ﬂ'll-) 8
Z»._‘ I8 - L1 =7 7

]
C\
'~
U
G
TN
1
:_..'4
e
B0
L.U’
s
v"_| v
¥
s
§ ik
C
i
(




